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#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t CH
1 |deiEE 1.5E+1 15.0 15.0
2 |EHE
3 |AFE
4 |ERE 3.8E+0 3.8 38
5 (AR
6 IR
7 |fRBE 8.5E+0 8.5 8.5
8 |ZWE 8.6E+1| 2.0E+0 87.5 75E+1| 15E+3 1,554.5 1,642.0
9 |HAE 1.3E+0 1.3 3.1E+1 30.7 32.0
10 |HER 1.4E+2 140.0 140.0
REEET! 8.0E+0 8.0 9.5E+3 9,519.1 9,527.1
12 |TER 6.1E+1| 6.9E+0 67.7 6.6E+3 6,624.9 6,692.6
13 |HREER
14 |[#E)E 2.2E+2 216.0 2.1E+3 2,072.1 2,288.1
15 |FiRk 2.9E+2 290.0 290.0
16 |[EWE
17 |RINE 1.1E+0 1.1 1.1
18 |BHE 3.0E-1 0.3 0.3
19 [ILEE
20 |RHE
21 |IKEBR 3.1E+ 31.0 1.2E+3 1,204.0 1,235.0
22 |E&mER 1.0E-1 0.1 0.1
23 |BHE 41E+0| 1.0E-1 4.2 45E+1 451 493
24 |ZER 7.7E+1 76.8 4.6E+2 460.6 537.4
25 |#HER 7.4E+0 7.4 7.4
26 |REAT 3.0E-1 0.3 6.0E+3 6,001.7 6,002.0
27 | KBRAF 7.8E+0 78 3.8E+0| 1.4E+2 146.0 153.8
28 |EER 7.7E+2| 1.0E+0 7711 2.6E+3 2,636.8 3,407.9
29 |ZRER
30 |FOERILE 2.4E+0 2.4 2.7E+3 2,700.1 2,702.5
31 |BHRE
32 |BRE
33 |EWLE 9.2E+2 924.1 4.3E+1 430 967.1
34 |[EER 1.2E+3 1,201.5 1,2015
35 |lLOR
36 |fESR 3.0E+1 30.0 30.0
37 |BNR
38 |BIRER
39 |EER
40 |fEREE 2.6E+1 26.0 8.7E+2 870.0 896.0
41 [EER
2 |RIBER
43 |RERR
4 | KRR 1.4E+1 14.0 3.8E+3 3,810.0 3,824.0
45 |FIFER
46 |EEER
47 |[HiER
£ H 2.2E+3| 1.0E+1 2,238.3 79E+1| 3.9E+4 39,416.2 41,654.5
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